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4 ™

int x; int y; int w;
int £ (int z) {
print x+y+z; /* COUODO printf(%d\n", x+y+z); OO0 =*/

return z;
}
int g (int z) {
int x;
x = 100;
if (z == 0) {
int y; /+ 0000000000 =/
y = 200;
return f(z);
} else {
y = 300;
return f(z);
}

}

int main () {
x = 10; y = 20;
w = g(£(0));
return g(1);
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4 let rec f n = let rec g n = R
if n < 2 then if n < 2 then
1 (1,1
else else
f(n-2)+f(n-1) let p = g(n-1) in
in £ 5 ;; ((snd p),(fst p)+(snd p))
in snd (g 5) ;;
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let rec hn = fun p > let rec hnp = D
if n < 2 then if n < 2 then
p p
else else
(h (n-1)) ((snd p),(fst p)+(snd p)) h (n-1) (snd p, (fst p)+(snd p))
in snd ((h 5) (1,1)) ;; in snd (b 5 (1,1)) ;; )
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// Parent.java // Child.java

class Parent { class Child extends Parent {
public String methodl () { public String methodl () {

return "Parent"; return "Child";
} }
Parent () { Child O {
} }
} }
// Test.java
class Test {
public static void main(String args[]) {
Parent p = new Child();
System.out.println(p.method1());
method2(p) ;
}
public static void method2(Parent q) {
System.out.println("No.1: " + gq.method1());
}
public static void method2(Child q) {
System.out.println("No.2: " + g.method1());

\}
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